Question-1
1. Father of Soil Mechanics is...

A) Kray B) Karl Terzaghi. C) Leygue D) Fellenius

Alod Mslasuedl dLe ...

2) 5 0il) 514 daiell. «l) @y &) el

2. Particle size of clay...

5@ 50 5% ...

A) 0.075mm to 0.425mm B) 0.425mm to 2mm C) <0.002mm. D) 0.002mm to 0.075mm

3. Example of fine grain soil...

A) Clay. B) Gravel C) Sand D) Boulder
2l AlHe Gelsrul. ..

u) 54, ofl) sis<l «l) 2dl &) otlesz

4. Soil Mechanics is also called...

A) Transportation Engineering B) Geotechnical Engineering. C) Surveying D) Sanitary
Engineering

ASE [HslAsdd 2 YR s8I 209 9.
2) 2leuizad 2ilesr(aaf2a ol) wuizslasa sileoy(aalol 2dl) udan ) dlazdl 2ilcor(axza
5. “Powdered rock” is also known as...

A) Clay B) Gravel C) Sand D) Moorum.

"YIBLR RUS" A VUM A 9.

5) 54 ofl) sis<l «l) 2l &) vz

6. When depth of footing is less than width of footing the foundation is called...

A) Shallow foundation. B) Deep foundation C) Medium foundation D) none of the above
IR 5201l Blals) dell LoD 52l il G4 AR d 51522« 5GAML 2Ud 9.

1) £9le9zL Al ofl) U 51G<sai «l) HerH Al £l) BuRlsd 56 <Al

7. Law of permeability is given by...
A) Rankine B) Proctor C) Darcy. D) Mohr
8. Which of the following is given by Mohr?



A) Theory of earth pressure B) Theory of consolidation C) Principle of soil compaction D)
Method of stress circle.

9. Clay is expressed as...

5& {12l 2829 Asd A1 9.

A)C.B)GC)SD)M

10. Which one of these is not an underground structure?

A) Tunnel B) Conduit C) Bridge. D) Shaft

HIL 56 QPRIGE 22l 42]?

5) 244 ofl) <l ) ya. {) wse

11. Particle size of silt...

[acz 5w 52 ..

A) 0.075mm to 0.425mm B) 0.425mm to 2mm C) 2mm to 4.75mm D) 0.002mm to 0.075mm.
12. Word soil is derived from word...

A) Sodium B) Solium. C) Sole D) Solanum

13. Theory of earth pressure is given by...

A) Rankine. B) Proctor C) Darcy D) Mohr

14. Which of the following is given by Proctor?

A) Theory of earth pressure B) Theory of consolidation C) Principle of soil compaction. D)
Method of stress circle

15. Soil transported by river water...

A) Alluvial. B) Marine C) Lacustrine D) Aeolian
Azll Wil szl ds adl wigl...

2) 2difd1g ofl) w2l dl) dsRzq &) vivtifaziq
16. Mixture of sand, clay and silt...

A) Peat B) Loam. C) Humus D) Moorum

17. Colluvial soil is also called...

A) Humus B) Loess C) Talus. D) Moorum

18. Soil transported by glacier...

A) Alluvial B) Marine C) Drift. D) Aeolian

19. Theory of consolidation is given by...



A) Rankine B) Proctor C) Darcy D) Karl Terzaghi.
20. The inventor of the term soil mechanics was,

A) Atterberg B) Karl Terzaghi. C) Mohr D) Fellenius
A [Mslasd 2oedl dlas wdl,

2) 1230491 6fl) 514 Azl ) Wi &) sl

21. Example of coarse grain soil...

A) Clay B) Gravel. C) Silt D) Fine sand

anél HIZld Gelsu. ..

5) 54, oil) sisdl. «dl) siu &) il wdl

22. When depth of footing is more than width of footing the foundation is called...
A) Shallow foundation B) Deep foundation. C) Medium foundation D) none of the above
IR 5 (2ol Gisls) dell USIons 5341 AR Sl AR d 51632 < 5SAML A ...

1) £9le9zL 1Al ofl) Elu 5162914 1) Heam uell &) GuRisd 56 ]

23. Principle of soil compaction is given by...

A) Rankine B) Proctor. C) Darcy D) Mohr

HIZlAL 51FUSAAAL [RAEALA AL 2AIRL DUUAHL 2L €9 ..

wl) 2es ofl) nisez. Al) s1zadl &) Hiz

24. Which of the following is given by Karl Terzaghi?

A) Theory of earth pressure B) Theory of consolidation. C) Principle of soil compaction D)
Method of stress circle

25. Silt is expressed as. ..

[Racz {12t 21829 casd 2 9.

A) C B) G C) SD) M.

26. Particle size of sand...

2l s st

A) 0.075mm to 4.75mm. B) 4.75mm to 80mm C) <0.002mm D) 0.002mm to 0.075mm
27. Soil transported by sea water...

A) Alluvial B) Marine. C) Lacustrine D) Aeolian

AHgAL wLRll gzl A adl 12l



21) 2Adi[dng ofl) Hild dl) dsRzq &) viviifaziq

28. Soil composed from partly decomposition of vegetable matters...
A) Peat B) Loam C) Humus. D) Moorum

29. Aeolian soil is also called...

A) Humus B) Loess. C) Talus D) Moorum

30. Which of the following is given by Coulomb?

A) Law of shear strength. B) Theory of consolidation C) Principle of soil compaction D)
Method of stress circle

31. In Deep foundation...

AU 51G<3eHI. ..

A) D<B B) D>B. C) D=B D) none of the above

32. Method of stress circle is given by...

A) Rankine B) Proctor C) Darcy D) Mohr.

33. Soil transported by lake water...

A) Alluvial B) Marine C) Lacustrine. D) Aeolian

U219z uLell a1zl e adl 12l

2) 2Adi[A1d ofl) w2l dl) dsReq &) vivtifaziq

34. Soil which contains high amount of Montmorillonite...
A) Alluvial B) Black cotton soil. C) Lacustrine D) Aeolian
35. Example of Chemical Weathering...

A) Temparature changes B) Weathering due to roots of trees C) Impact due to ice and rain D)
Hydration.

36. Cohesionless soil is made by...

A) Physical Weathering. B) Chemical Weathering C) A and B both D) none of the above
37. Particle size of boulders...

A) 0.075mm to 4.75mm B) 4.75mm to 80mm C) >300mm. D) 0.002mm to 0.075mm

38. Sand is expressed as...

2l <Al2AeAl 2829] cAasd A1 9.

A)CB)GC)S.D)M

39. Which of the following is given by Rankine?



A) Theory of earth pressure. B) Theory of consolidation C) Principle of soil compaction D)
Method of stress circle

40. Theory of bearing capacity is given by...

A) Rankine B) Proctor C) Darcy D) Karl Terzaghi.

41. In Shallow foundation...

£916931 51G2AHI. ..

A) D<B. B) D>B C) D=B D) none of the above

42. Soil transported by wind...

A) Alluvial B) Marine C) Lacustrine D) Aeolian.

Y g1zl uRasA gdl viZl...

21) 2di[d1g ofl) w2l dl) dsRzq &) vivtifaziq

43. Cohesive soil is made by...

A) Physical Weathering B) Chemical Weathering. C) A and B both D) none of the above
44, Example of Physical Weathering...

A) Temparature changes. B) Oxidation C) Carbonation D) Hydration

(5254 aloid Gelsza ...

V1) dlUHLA oledln 89 . oil) wlifsugaq «l) sitidaq {) sigu-

45. Soil transported by gravity...

A) Alluvial B) Colluvial. C) Lacustrine D) Aeolian

46. Law of shear strength is given by...

A) Rankine B) Proctor C) Darcy D) Coulomb.

47. Moorum is also called...

A) Powdered chalk B) Small rock C) Powdered rock. D) Big rock
48. Particle size of Gravel...

50l s se .

A) 0.075mm to 4.75mm B) 4.75mm to 80mm. C) <0.002mm D) 0.002mm to 0.075mm
49. Gravel is expressed as...

sul {12l 24829 asd 2 9.

A)CB)G.C)SD)M

50. The word “Geo” in Geotechnical Engineering means. ..



A) Earth. B) Water C) Ice D) Glacier

Question-3

1. Full form of Cc is...

A) Coefficient of curvature. B) Coefficient of curve C) Coefficient of cone D) none of the above
Ccqubl A &9...

) 59221 2LBlis oil) 53l oris ) gisl ols ) Gulsd 59 sl

2. Full form of Cu is...

A) Coefficient of uniform B) Coefficient of uniformity. C) Coefficient of unity D) none of the
above

Cu < Yl M ...

) 45101 aRLis ofl) 2dlsIHIZlAL ayriis. L) isdldl aptis &) Gurisd 56 <l
3. For well graded soil value of Cc is...
A)0to2B)1t03.C)2t04D)3t05

4. For uniform size particles value of Cu is...

A) <5. B) 5to 15 C) >15 D) none of the above

5. For medium graded soil value of Cu is...

A) <5 B) 5to 15. C) >15 D) none of the above

6. For well graded soil value of Cu is...

A) <5 B) 5to 15 C) >15. D) none of the above

7. In liquid limit test, Casagrande’s tool is used for which type of soil...

A) sandy B) clayey. C) A and B both D) none of the above
ULl HALEL ULIEHBIME, SHUIALLAL A1EAAL GUALL 541 UsRel HIZL W2 211 69, .

w1) 2410 6fl) HIZL Aol «l) 2l 214 oll oid {l) Gualsd 5O Ad]

8. In liquid limit test, ASTM tool is used for which type of soil...
A) sandy. B) clayey C) A and B both D) none of the above

ULl HAlEL ulHRmi, ASTM AiH AL GUALRL 541 UsiRedl HIZL Wiz 211 69, .

w1) 2410 6fl) HIZL ALoll 24l) 24 w14 ofl old &) Guisd §9 Gl

9. Plasticity index is expressed as...



wlf22[42] Seis 2l dLls LalAAHi 244 9.

A) W-Wp. B) Wp-Ws C) Ws-W_ D) none of the above
10. Shrinkage index is expressed as...

51 DHeds 2L dLlS LAlAAUHL 214 9.

A) WL-Wp B) Wp-Ws. C) Ws-W_ D) none of the above
11. For well graded gravel value of Cu is...

A) <4 B)>4.C) <6 D) >6

12. For well graded sand value of Cu is...

A) <4 B) >4 C) <6 D) >6.

13. In liquid limit test, number of blows required are...
UALSL HATEL UlABIML, 21a2Ls 5251t dval 9. .

A) 25. B) 30 C) 35 D) 40

14. In plastic limit test, soil is made to crumble by making which size thread...
A) 1mm B) 2mm C) 3mm. D) 4mm

15. I is expressed as...

L 2 =] solacimi »ud 9. ..

A) w-wp/lp. B) w.w/lp C) Ip/If D) none of the above
16. Ic is expressed as...

IC 2L A2l calladHi U9 6. ..

A) w-wp/lp B) w-w/Ip. C) Ip/If D) none of the above
17. It is expressed as...

IT wiL d=l5 callaaIHi »0d 6. ..

A) w-wp/Ip B) wi-w/lp C) Ip/If. D) none of the above
18. I is 100% soil behaves as...

A) Liquid. B) Semi Solid C) Solid D) none of the above

IL 100% GiA dl HIZL 241 d2]s Ad 9.,

u1) NaLsl ofl) 248 Aif@s 24l) Ailas &) Guzisd 59 ¢l

19. I is 0% soil behaves as...

A) Liquid B) Semi Solid. C) Solid D) none of the above



20. Ic is 100% soil behaves as...

A) firm soil. B) medium soil C) soft soil D) none of the above
21. Ic is 0% soil behaves as...

A) firm soil B) medium soil C) soft soil. D) none of the above
22. Soil changes its state from plastic to semi solid it is called...

A) Liquid limit B) Plastic limit. C) Shrinkage limit D) none of the above

HIZL Al Rafaq venZesHidl 249 AUl oed 9 dd sl 204 9. ..

w1) ULl HAlel ofl) wailZes Halel. A1) dsiad waiel &) GuRisd 596 Al

23. Soil changes its state from liquid to plastic it is called...

A) Liquid limit. B) Plastic limit C) Shrinkage limit D) none of the above

U2 A<l Ralad narglnidl valResui 4ed €9 dqd ssalMi 204 9. ..

w1) ULl HAlel ofl) valfZes Halel 24l) 2isiad WALl §l) Gulsd 59 dl
24. Soil changes its state from semi solid to solid it is called...

A) Liquid limit B) Plastic limit C) Shrinkage limit. D) none of the above
HIZL A<l Raldd 248 Aldlsnizl]l Aidlsni oed 89 dd el »0d ...
w1) ULl HAlel ofl) wallZes HAlel 24l) 2siud HAlel ) Guisd 59 dl
25. silt is expressed as...

[z dl2Ael mA228] cusd 211 9.

A)CB) G C)SD)M.

26. sand is expressed as...

2l Al w2l casd A1n 9. ..

A)CB)GC)S.D)M

27. Deo=40mm and D10=10mm then, Cu is...

A)1B)2C)3D)4.

28. Liquid limit=44% and plastic limit=22% then Ipin % is...
UAUEL HAIEL = 44% i walllzes HAIEL = 22% Ul % Hilp 9.

A) 66 B) 22. C) 2 D) 0

29. Particle size of fine sand...

A) 0.075mm to 0.425mm. B) 0.425mm to 2mm C) 2mm to 4.75mm D) >4.75mm



30. Dgo=80mm, D30=40mm and D1p=10mm then, Cc is...
A)1B)2.C)3D)4

31. Liquidity Index is expressed as...

[Alsali2]l Sees vl dzls calaqumi »ud ...

A) w-wp/lIp. B) wr-w/Ip C) Ip/If D) none of the above
32. Consistency Index is expressed as...

sediluzdl Seas 2l d<ls ealadimi 204 9.

A) w-wp/Ip B) wi-w/lp. C) Ip/If D) none of the above
33. Toughness Index is expressed as...

25 D35 VL dzls cAlAdM 204 9.

A) w-wp/lp B) w-w/Ip C) Ip/If. D) none of the above
34. Ip is 100% soil behaves as...

A) Liquid B) Semi Solid. C) Solid D) none of the above
35. Gravel is expressed as. ..

5L {12l p18129] sd 211 9.

A)CB)G.C)SD)M

36. Clay is expressed as...

5@ il w8128 Asd A1 6.,

A)C.B)GC)SD)M

37. Particle size of medium sand...

A) 0.075mm to 0.425mm B) 0.425mm to 2mm. C) 2mm to 4.75mm D) >4.75mm
38. Example of coarse grain soil...

A) Clay B) Gravel. C) Silt D) Fine sand

39. Liquid limit=76% and plastic limit=38% then IP in % is...

NALSl HALEL = 76% 24 valllZ2s<l HAlel = 38% usdl% i lp 9.

A) 114 B) 38.C) 76 D) 2

40. Dgo=3mm and Dip=1mm then, Cu is...
A)1B)2C)3.D)4

41. W <35 plasticity of soil is...

A) Low. B) Medium C) High D) none of the above



42. W 35 to 50 plasticity of soil is...

A) Low B) Medium. C) High D) none of the above

43. W >50 plasticity of soil is...

A) Low B) Medium C) High. D) none of the above

44, Dgo=4mm and Dip=2mm then, Cu is...

A)1B)2.C)3D)4

45. Particle size of coarse sand...

A) 0.075mm to 0.425mm B) 0.425mm to 2mm C) 2mm to 4.75mm. D) >4.75mm
46. Liquid limit=49% and plastic limit=28% then Ip in % is...

AL HALEL = 49% i allZas<l HALLL = 28% ULl % Hi Ip 9. ..

A) 49 B) 28 C) 21. D) 77

47. Particle size of clay...

A) 0.075mm to 0.425mm B) 0.425mm to 2mm C) <0.002mm. D) 0.002mm to 0.075mm

48. Particle size of silt...

A) 0.075mm to 0.425mm B) 0.425mm to 2mm C) 2mm to 4.75mm D) 0.002mm to 0.075mm.
49. Liquid limit=60% and plastic limit=20% then Ip in % is...

nAlSl HAlEL = 60% 24 wall2s HALL = 20% UIl% Hi p 9.
A) 100 B) 60 C) 20 D) 40.

50. Dgo=30mm, D39=30mm and D10=10mm then, Cc is...
A)1B)2C)3.D)4

Question-6

1. Attraction force between molecules of soil particles...

A) Cohesion. B) Adhesion C) Angle of internal friction D) friction
2. Cohesive soil is denoted by...

5188lA HIZL AL 2Rl £21AAHE 209 99, .,

A) C-@ soil B) C soil. C) @ soil D) none of the above

3. Coulomb’s law for shear strength...

(912 22 W12 560t dl...



A)S=C+otan@. B) S=C C) S = o tan® D) none of the above
4. Soil which possess maximum cohesion...

A) Gravel B) Sand C) Silt D) Clay.

ol 5 6 HTH SLEALBL 419 69...

5) sis<l ofl) 2dl 2dl) siu &) s4.

5. Normal Stress is referred as...

UIHLA 222 ALl 24120 2AAAML DU 9.

A)@B)CC)SD)o.

6. C soil is referred as...

A) Cohesive soil. B) Frictional soil C) Cohesive frictional soil D) none of the above

C 12l Ul 24121 22AAIH 209 9.

) sigahla W2l ofl) ada HiZl ) sicla ade HiZl &) Gurisd 59 <l
7. Which one of these is Quick shear test based on drainage conditions?
Seloyedl Zafaq 2uaiR suHidl 569 #adl (12 uLlae 9?

A) CD B) CU C) UU. D) none of the above

8. Box shear test is used for which type of soil?

A) Granular soil. B) Clayey soil C) Silty soil D) none of the above
9. For cohesive soil...

A) @=0. B) C=0 C) A and B both D) none of the above

slgotla w2l wiz. ..

) @=0 oil) C=0 ) i v ol oid {l) Guzisd 595 Al

10. Internal friction is referred as...

2idR5 40l il 24121 LATAAME 209 €9, ..

A)@.B)CC)SD)o

11. Cohesive frictional soil is denoted by...

A) C-@ soil. B) C soil C) @ soil D) none of the above

slofla afeL HIZL UL 2AIRL eLladHl 2UA 9.

2) C-@ w2l ¢il) C w2l 2l) @ w2l £l) GuRisd 56 Ad]



12. Drainage is permitted in both stage the shear test is...
A) CD. B) CU C) UU D) none of the above

13. In a Cohesive soil, Cohesion is 10kN/m? and Normal stress is 20kN/m? shear strength of
the soil in KN/m? will be...

A) 10. B) 20 C) 30 D) 40

14. The maximum shear stress occurs on the filament which makes an angle with the horizontal
plane equal to,

A) 30 B) 45. C) 60 D) 90

15. For shear strength, triaxial shear test is suitable because:

A) It can be performed under all three drainage conditions

B) Precise measurement of the pore pressure and volume change during the test is possible
C) Stress distribution on the failure plane, is uniform

D) All of the above.

16. Which one of these is slow shear test based on drainage conditions?

Seloyell Rafaq 2uHR 2umidl 524 Hl4 (22 ulaw 97
A) CD. B) CU C) UU D) none of the above

17. Soil which possess minimum cohesion...

A) Gravel. B) Sand C) Silt D) Clay

orHlel 5 6% AeddH SlEAlBRL HAA 9.

5) sis<l ofl) 2dl 2dl) siu &) sa

18. In a Cohesive frictional soil, Shear strength is 15kN/m2, Angle of internal friction 45° and
Normal stress is 12kN/m2 cohesion of the soil in kKN/m2 will be...

A)1B)2C)3.D)4

19. For cohesive frictional soil...

A) @=0 B) C=0 C) A and B both D) none of the above.

slobla e Wizl wie. ..

u1) @=0 oil) C=0 l) 21 w1 oil 6id {l) GURisd 5O il

20. Unconfined compression test is used for which type of soil?
A) Granular soil B) Clayey soil. C) Silty soil D) none of the above
21. C-0 soil is referred as...

A) Cohesive soil B) Frictional soil C) Cohesive frictional soil. D) none of the above



C-@ HIZL 2Ll 2121 £LIAAHE 209, 69, ..

) slgala W2l ofl) adu w2l «l) sigdla atu Higl &) Gurisd 56 4l

22. In a Cohesionless soil, Angle of internal friction 45° and Normal stress is 20kN/m? shear
strength of the soil in kN/m? will be...

A) 10 B) 20. C) 30 D) 40

23. The direct shear test suffers from the following disadvantage:
A) Drain condition cannot be controlled

B) Pore water pressure cannot be measured

C) Shear stress on the failure plane is not uniform.

D) All of the above

24. The equation S = C + o tan ¢ is given by:

A) Rankine B) Coulomb. C) Mohr D) Culaman

S=C + o tan @ U150l Bl LA BUUAHL DU €9

1) ez ofl) savor «l) Hisz {) sau
25. o is referred as. ..

A) Normal Stress. B) Shear Stress C) Frictional Stress D) none of the above

T A 2L dZls ANHALHE 2409 €9 ...

21) AlHLIA AL ofl) gil212 dea 2dl) ado du ) Gurisd 59 4dl

26. Soil which possess maximum internal friction...

A) Gravel. B) Sand C) Silt D) Clay

HedH Bhidls 2io dziadl vzl .

1) sis2l ofl) 2l «l) siu ) sq

27. Drainage is permitted in only one stage the shear test is...
A) CD B) CU. C) UU D) none of the above

28. Angle of Repose is referred as...

A)@B)CC)SD)@.

29. The vane shear test is used for the in-situ determination of the undrained strength of the
intact fully saturated...

A) Sands B) Clays. C) Gravels D) Organic soil



30. The shearing strength of a cohesion-less soil depends upon,

A) dry density B) rate of loading C) confining pressure. D) nature of loading
31. Frictional soil is denoted by...

A) C-@ soil B) C soil C) @ soil. D) none of the above

A0l HIZL DAL 2AIRL 2AAAHE 24 9.

) C-@ 2l ¢il) C w2l l) @ w2l £l) GuRisd 56 dl

32. In a Cohesive frictional soil, Shear strength is 25kN/m2, Angle of internal friction 45° and
Normal stress is 10kN/m2 cohesion of the soil in kN/m2 will be...

A) 15.B) 25C) 35 D) 45

33. Pick up the correct statement from the following:

A) An unconfined compression test is a special case of triaxial compression test.

B) An unconfined compression test is a special case of direct shear test

C) The confining pressure is maximum during an unconfined compression test

D) The confining pressure is upto maximum during an unconfined compression test
34. For frictional soil...

A) @=0 B) C=0. C) A and B both D) none of the above

adeL 12l Hiz. ..

w1) @=0 oil) C=0 l) 24 w1 oil 6id {l) GURisd 5O il

35. Shear Stress is referred as...

9142 222 ALl £aIRL 2AUAAML 219 9. .

A)@B)CC)S.D)c

36. Angle of internal friction depends on:

A) Shape of particle B) Soil Density C) Surface roughness D) all of the above.
37. Cohesion depends on:

A) Fineness of particle B) Clay content C) Water content D) all of the above.
518, dell U [A612 €9:

5) 50Ul »aHAL ofl) sl Hisn ) wwelldl Hisn &) GuzHl ofHl slioidl

38. Which one of these is R shear test based on drainage conditions?

Setoyell Raldd 2uaR 20zl 59 R (2042 ulaw 97



A) CD B) CU. C) UU D) none of the above
39. Cohesive soils are generally,

A) plastic and also compressible. B) elastic and also compressible C) plastic but
incompressible D) none of the above

40. In non-cohesive soil in passive state of plastic equilibrium,

A) major principal stress is horizontal B) minor principal stress is vertical. C) major principal
stress is vertical D) minor principal stress is horizontal

41. The shear strength in plastic undrained clay, is due to,
A) inter-granular friction B) internal friction C) cohesion. D) none of the above
42. @ soil is referred as. ..

A) Cohesive soil B) Frictional soil. C) Cohesive frictional soil D) none of the above

@ HIZL 2L 221 £LNAAHE 209, 69, .

) sigaila W2l ofl) ada w2l ) sicla ade HiZl &) Guzisd 59 <Al
43. The triaxial apparatus is usually used for,

A) CD B) CU C) UU D) all of the above.

44. The angle of internal friction is maximum for

A) angular-grained loose sand

B) angular-grained dense sand.

C) round-grained dense sand

D) round-grained loose sand

45, Cohesion is referred as...
S1EB VAl 2AURL SATAAHL U 69, ..

A)@B)C.C)SD)o

46. The shear strength of a soil
A) increases with an increase in the normal stress

B) is proportional to the cohesion of the soil
C) is generally known as the strength of the soil
D) all of the above.

47. In a Cohesive frictional soil, Cohesion 10kN/m?, Angle of internal friction 45° and Normal
stress is 20kN/m? shear strength of the soil in kN/m? will be...

A) 10 B) 20. C) 30 D) 40



48. Drainage is not permitted in any stage the shear test is...
A) CD B) CU C) UU. D) none of the above

49, S is referred as...

A) Normal Stress B) Shear Stress. C) Frictional Stress D) none of the above
S A wil 45 BUAHAHL UL 5 ...
V1) AIHIA, AL ofl) 2il21z dea 2dl) i du ) Guzisd 56 4d]

50. Soil which possess minimum internal friction...

A) Gravel B) Sand C) Silt D) Clay.

Add¥ 2idRs i H1adl w2l ...

1) sisgl ofl) 2l 2dl) siu dl) sq



